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TrA=—T14vr<A>
ERE 260,000 M
BE 1,470 A/B x30= 44,100 M
EEREE 370 A/B x30= 11,100 A
T AT 4tk 1,309 A/B x30= 39,270 M
AN2NEBEDISE it 354,470 M
BAZEDHE it 519,470 M

TrA—T14tY<B>
ERE 260,000 M
BE 1,470 A/B x30= 44100 H
HEERER 370 M/B x30= 11,100 A
THAZT 4k 990 M/B x30= 29,700 M
AN2NEBEDISE it 344,900 M
BEDGE &t 509,900 H

TrA-T4tY<C>
ERE 260,000 M
BE 1,470 A /B X30= 44100 H
EEBREE 370 M@ /B x30= 11,100 A
T AT 4y 627 M /B x30= 18,810 H
AN2NEBEDISE it 334,010 A
BAEDHE it 499,010 M
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X BES EHZREFENSHLEE. JE. FREESELELTT,

TH6FE6A1H
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T A= T4ty <A>
ERE 180,000 m
BE 1,470 A/ x30= 44100 H
HEEEREE 370 /B x30= 11,100 M
TAZT 1Yk 1,309 A/B x30= 39,270 A
AN2ANEBEDIHE it 274,470 A
BEEDHE it 439,470 M

7rA=—T14tY<B>

ERE 180,000 A
BE 1,470 @/8 x30= 44100 M
HEBREE 370 A/B x30= 11,100 A
TA=T4E vk 990 A/B x30= 29,700 A
AN2ANEBEDIGE at 264,900 M
BEEDHE &t 429,900 A

TrA=—T4t9<C>

ERE 180,000 A
BE 1,470 @ /B x30= 44100 M
EEREE 370 @ /B x30= 11,100 A
FAZTF 4tk 627 A /B x30= 18,810 A
AN 2NBEDIZE &t 254,010 A
BEDHZE &t 419,010 A

(EHRZEZE 5500 A/8)

(EHRZEZE 5500 A/8)

(EHRZEZE 5500 A/R8)

X BES EHZREEFNSHOLEE. BE, FREESRLELET,

TH6FE6A1H
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T A= T4ty <A>
ERE 91,000 A
BE 1,470 A/ x30= 44100 H
HEEEREE 370 /B x30= 11,100 M
TAZT 1Yk 1,309 A/B x30= 39,270 A
AN2NEBDIGE it 185,470 H
BEEDHE it 350,470 M

7rA=—T14tY<B>

ERE 91,000 A
BE 1,470 @/8 x30= 44100 M
HEBREE 370 A/B x30= 11,100 A
TA=T4E vk 990 A/B x30= 29,700 A
AN2ANEBEDIGE at 175,900 A
BEEDHE &t 340,900 M

TrA=—T4t9<C>

ERE 91,000 A
BE 1,470 @ /B x30= 44100 M
EEREE 370 @ /B x30= 11,100 A
FAZTF 4tk 627 A /B x30= 18,810 A
AN2NHEDIGE &t 165,010 A
BEDHZE &t 330,010 A

(EHRZEZE 5500 A/8)

(EHRZEZE 5500 A/8)

(EHRZEZE 5500 A/R8)
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